

## Puissances de Dix (J)

$$9 \div 1 =$$

$$9 \div 0,1 =$$

$$9 \div 0,01 =$$

$$9 \div 0,001 =$$

$$9 \div 0,0001 =$$

$$1 \div 1 =$$

$$1 \div 0,1 =$$

$$1 \div 0,01 =$$

$$1 \div 0,001 =$$

$$1 \div 0,0001 =$$

$$1 \div 1 =$$

$$1 \div 0,1 =$$

$$1 \div 0,01 =$$

$$1 \div 0,001 =$$

$$1 \div 0,0001 =$$

$$2 \div 1 =$$

$$2 \div 0,1 =$$

$$2 \div 0,01 =$$

$$2 \div 0,001 =$$

$$2 \div 0,0001 =$$

$$3 \div 1 =$$

$$3 \div 0,1 =$$

$$3 \div 0,01 =$$

$$3 \div 0,001 =$$

$$3 \div 0,0001 =$$

$$4 \div 1 =$$

$$4 \div 0,1 =$$

$$4 \div 0,01 =$$

$$4 \div 0,001 =$$

$$4 \div 0,0001 =$$

$$4 \div 1 =$$

$$4 \div 0,1 =$$

$$4 \div 0,01 =$$

$$4 \div 0,001 =$$

$$4 \div 0,0001 =$$

$$6 \div 1 =$$

$$6 \div 0,1 =$$

$$6 \div 0,01 =$$

$$6 \div 0,001 =$$

$$6 \div 0,0001 =$$

$$6 \div 1 =$$

$$6 \div 0,1 =$$

$$6 \div 0,01 =$$

$$6 \div 0,001 =$$

$$6 \div 0,0001 =$$

$$135 \div 1 =$$

$$135 \div 0,1 =$$

$$135 \div 0,01 =$$

$$135 \div 0,001 =$$

$$135 \div 0,0001 =$$

DÉFI

## Puissances de Dix (J) Solutions

$9 \div$	$1 =$	$9$	$1 \div$	$1 =$	$1$
$9 \div$	$0,1 =$	$90$	$1 \div$	$0,1 =$	$10$
$9 \div$	$0,01 =$	$900$	$1 \div$	$0,01 =$	$100$
$9 \div$	$0,001 =$	$9\ 000$	$1 \div$	$0,001 =$	$1\ 000$
$9 \div$	$0,0001 =$	$90\ 000$	$1 \div$	$0,0001 =$	$10\ 000$

$1 \div$	$1 =$	$1$	$2 \div$	$1 =$	$2$
$1 \div$	$0,1 =$	$10$	$2 \div$	$0,1 =$	$20$
$1 \div$	$0,01 =$	$100$	$2 \div$	$0,01 =$	$200$
$1 \div$	$0,001 =$	$1\ 000$	$2 \div$	$0,001 =$	$2\ 000$
$1 \div$	$0,0001 =$	$10\ 000$	$2 \div$	$0,0001 =$	$20\ 000$

$3 \div$	$1 =$	$3$	$4 \div$	$1 =$	$4$
$3 \div$	$0,1 =$	$30$	$4 \div$	$0,1 =$	$40$
$3 \div$	$0,01 =$	$300$	$4 \div$	$0,01 =$	$400$
$3 \div$	$0,001 =$	$3\ 000$	$4 \div$	$0,001 =$	$4\ 000$
$3 \div$	$0,0001 =$	$30\ 000$	$4 \div$	$0,0001 =$	$40\ 000$

$4 \div$	$1 =$	$4$	$6 \div$	$1 =$	$6$
$4 \div$	$0,1 =$	$40$	$6 \div$	$0,1 =$	$60$
$4 \div$	$0,01 =$	$400$	$6 \div$	$0,01 =$	$600$
$4 \div$	$0,001 =$	$4\ 000$	$6 \div$	$0,001 =$	$6\ 000$
$4 \div$	$0,0001 =$	$40\ 000$	$6 \div$	$0,0001 =$	$60\ 000$

$6 \div$	$1 =$	$6$	$135 \div$	$1 =$	$135$
$6 \div$	$0,1 =$	$60$	$135 \div$	$0,1 =$	$1\ 350$
$6 \div$	$0,01 =$	$600$	$135 \div$	$0,01 =$	$13\ 500$
$6 \div$	$0,001 =$	$6\ 000$	$135 \div$	$0,001 =$	$135\ 000$
$6 \div$	$0,0001 =$	$60\ 000$	$135 \div$	$0,0001 =$	$1\ 350\ 000$

DÉFI